
%Captured Response, %Response and Lift

class freq %Captured Res. %Response Lift
1 174 174/381=45.6 174/200=87.0 174/38=4.57
2 110 110/381=28.9 110/200=55.0 110/38=2.89
3  38  38/381= 9.9  38/200=19.0  38/38=1.00
... ... .. ... ...
10   4   4/381= 1.0   4/200= 2.0   4/38=0.10

class c.freq %Captured Res. %Response Lift
1 174 174/381=45.6 174/200=87.0 174/38=4.57
2 284 284/381=74.5 284/400=71.0 284/76=3.73
3 322 322/381=84.5 322/600=53.6 322/114=2.82
... ... .. ... ...
10 381 381/381=100 381/2000=19.0 381/381=1.00


